Government of India
Ministry of Defence
Ordnance Factory Board
10A, S.K. Bose Road
Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s S.K WELDING WORKS, 1064 KATRA ADHARTAL JABALPUR JABALPUR ADHARTAL Madhya Pradesh
is registered at Ordnance Factory Board for following Items.

Sl. Factory / Unit Item Nomenclature Initial Date of
No. Registration
1 Vehicle Factory Jabalpur Trooper Seat Assy BPV SML L F No 22-02-2020
9413100020000[90]

2 REAR SEAT ASSY[90] 22-02-2020

3 LPTA ASSY BUMPER FRONT[90] 24-02-2020

4 LPTA Assy Water Tank Insulated 55 It[90] 02-09-2020

5 SEAT BASE ASSY FRONT LHS[90] 12-07-2021

6 9010398122000 BUMPER ASSY AND DETAILS FOR | 24-02-2020

UPGRADED MPV 4X4[90]

7 SQ TUBE 40 x 40 x 3 mm THICKJ[90] 24-02-2020
8 PLATE[90] 24-02-2020
9 SILENCER MTG BKT[90] 02-09-2020
10 SA OF PIPE EXHAUST[90] 24-02-2020
11 CAB MOUNTING BRACKET LH[90] 24-02-2020
12 CAB MOUNTING BRACKET RH[90] 24-02-2020
13 BOTTOM X MEMBER[90] 29-01-2021
14 BKT BODY MTG FT DRG[90] 02-09-2020
15 BODY MTG 4TH RH LH[90] 02-09-2020
16 MOD STEPNEY MOUNTING ARRANGEMENT ON 24-02-2020

LH SIDE FOR UPGRADED MPV 4 by 4 DRG NO
2699 57 31[90]

Page 1/4



17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

MOD STEPNEY MOUNTING ARRANGEMENT ON 24-02-2020
RH SIDE FOR UPGRADED MPV 4 by 4 DRG NO

2700 57 32[90]

JERRICAN CARRIER for LPTA WB[90] 01-09-2020
LPTA LPTA LOAD BODY[90] 02-09-2020
LPTA Stud for water Tank[90] 02-09-2020
LPTA U Bolt with Nut[90] 02-09-2020
LPTA ASSY FUEL TANK COMPLETE[90] 02-09-2020
VFJ BADGE FOR CABIN[90] 29-01-2021
Load Body Accessories[90] 02-09-2020
Pad[90] 02-09-2020
U BOLT REAR SPRING[90] 29-01-2021
BKT CAB MTG REAR RHJ[90] 02-09-2020
LPTA Hex Nut M16 X 2[90] 02-09-2020
LPTA PLAIN NUT M12 X 1 75[90] 02-09-2020
LPTA Assy 5th Cross Members BS IIl 715[90] 02-09-2020
END BKT LH BRKT FOR CROSS MEMBER[90] 02-09-2020
HEX NUT M 8[90] 02-09-2020
BOLT M12 PART NO L1021214[90] 02-09-2020
Set Screw M8X30[90] 02-09-2020
PLAIN NUT M 6[90] 02-09-2020
Lock Nut M12[90] 02-09-2020
Set Screw M8X35[90] 02-09-2020
Set Screw M6X40[90] 02-09-2020
Set Screw M8X25[90] 02-09-2020
OIL CANJ[90] 02-09-2020
BKT REVERSE BEEPER[90] 29-01-2021
BRACKET FOR AXLE LAMP[90] 29-01-2021
Load Body Complete Drg No B6510604 C 1 for 02-09-2020
Stallion vehicle[90]

BKT FILTER MTG[90] 02-09-2020

Page 2/4




45

46

a7

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

BRACKET AGBI[90] 02-09-2020
BRACKET BLACK OUT HEAD LAMP[90] 29-01-2021
CROSS MEMBER AGB REAR[90] 29-01-2021
BRACKET FUEL TANK BRACKET[90] 29-01-2021
BKT CAB MTG REAR LH[90] 02-09-2020
FRAME DRILLING RH[90] 02-09-2020
FRAME DRILLING LH[90] 02-09-2020
CROSS MEMBER AGB FRT[90] 02-09-2020
BKT[90] 02-09-2020
END BKT[90] 02-09-2020
REAR SHOCK ABSR BKT RH[90] 02-09-2020
REAR SHOCK ABSR BKT LH[90] 02-09-2020
S A OF FUEL TANK RH 160 LITRE[90] 02-09-2020
S A OF FUEL TANK LH 160 LITRE[90] 02-09-2020
CAB TILT PUMP[90] 29-01-2021
DEAERATION TANK[90] 29-01-2021
PIPE CLIP ASSY EXHAUST PIPING[90] 29-01-2021
MANUFACTURER PLATE[90] 29-01-2021
T BOLT CLAMP[90] 29-01-2021
BUMPER CROSS MEMBER[90] 29-01-2021
U BOLT FRONT SPRING[90] 29-01-2021
WELDING ELECTRODES SIZE: 3.15 MM[90] 29-01-2021
WELDING ELECTRODES SIZE: 4 MM[90] 29-01-2021
WELDING ELECTRODES SIZE: 5 MM[90] 29-01-2021
SPRING HANGER BRACKET (REAR 12-07-2021
SUSPENSION)[90]

BRACKET CRANK ARM[90] 12-07-2021
S A OF FOOT STEP[90] 12-07-2021
MS ANGLE IRON 50x50x6MM[90] 12-07-2021
MS CHANNEL 75x40x40[90] 12-07-2021

Page 3/4




74 SQ TUBE 40x40[90] 12-07-2021

75 MS PLATE 12 MM IS 2062[90] 12-07-2021
76 MS PLATE 16 MM IS 2062 GR B[90] 12-07-2021
7 MS PLATE 25 MM THICKJ[90] 12-07-2021
78 HOOK PART NO 675 57271 A[90] 12-07-2021
79 Ordnance Factory Khamaria CATCH LOCK ASSY DRG NO IA 053 4 CO item 26-07-2021

code 9911358061[99]

80 BOX C-235(STEEL) FOR BOMB 25 LBS[65] 17-08-2021
81 BOX M-104 MK-1 STEEL DD(L)11325[65] 20-08-2021
Registration No. : AJFPS1201B
Initial Date of Registration . 22-02-2020
Downloaded at : 24/09/2024 02:49 pm

Conditions of Registration:

This Registration has been carried out based on self-declared documents furnished by Vendor.
Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the
Registration Authority immediately.
3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.
Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

This is a system generated certificate. Hence no separate signature is required.

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

Page 4/4


http://www.tcpdf.org

